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%® 1. Before opening the seal of the Question Booklet check
- whether the Paper Code printed on it is matching with the
Paper Code printed on the Hall Ticket with the respective
session. Ifit is not matching, immediately bring to the notice
of the invigilator and obtain the Question Booklet with
correct Paper Code.
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Please check the Question Booklet immediately on opening
and ensure that it contains all the 150 multiple choice

questions printed on it.

% 3. Carefully note the Question Booklet No.

4. Separate Optical Mark Reader (OMR) Answer Hheet is

Paper Code, Signature of the Candidate and Inv 1g:lﬂur Filfs
the boxes with Blue/Black ball point pen qml:,l& %
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5. Ifthere is any defect in the Question ]:'*“lf'H MEFW OMR

answer sheet, please ask the invigilater h_[ replacement

g

immediately.

€ 6. Since the answer sheets are 10 bey scanned (valued) with

Optical Mark Scanner system, the candidates have to USE
BALL POINT PEN {HHIE’BI_ACK} ONLY for darkening

the circles in the Mﬁut including bubbling the answers.
Bubbling with' Paﬂl / Ink Pen /Gel Pen 1s not permitted in
the exa.mmauuﬁ.:lf any mistake is done by you on the OMR

sheet, ityWillinot be replaced.

7. The {Juesunn Booklet number is printed on right comner of the
cover page of the Test Booklet. Mark vour Question Booklet
qumber on side 1 of the OMR Answer Sheet by darkening
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If you have not darkened the Question Booklet number at
side 1 of the OMR Answer Sheet vour Answer Sheet will be
invalidated without any further notice, If it is darkened in a way
that it leads to discrepancy in determining the exact Question
Booklet number, then it may lead to wrong result / rejection
of the Answer Sheet and candidate himself / herself will be
responsible for the same,

have to select one correct answer and mark it on the Answer

sheet by darkening the appropriate circle for the question. | :

[f more than one circle is darkened, that answer will not be
valued at all. Use Blue/Black Ball point pen to fill the circle |
completely. Make no other stray marks.

e.g. : If the answer for Question No. | is Answ
it should be marked as follows :
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Mark your Hall Ticket No. as given in the Hall Ticket with
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Rough work should be done only in '

| Y In the space provided for that
purpose in &:Qﬁum Paper Booklet. Nundminmcﬂmm‘papcr
will be allowed into the Examination Ha]) except Hall Ticket.

Do not mark answer choices on the Questi
3 . estion B Niolati
of this will be viewed seriously. ooklet. Violation

In case of any discrepancy between English and Telugu Version

of the questions (in Bilingual Paper), English :
= a V
question shall be treated as final. $ ersion of the

Use of Calculators, Mathematical Tables, Log Books

Pagers, Cell Phones or any other electronic gadgets is stri
L} | ] :s
it gadgets is strictly

The candidate should write the Booklet number and Sign in

the space provided in the Nominal Rolls while ensuring the
Bio-data printed against his/ her name is correct.

No candidate should leave the examination hall until completion
of examination time,

Before leaving the examination hall, the candidate should hand

over the OMR Answer Sheet to the Invigilator, failing which
action will be taken for malpractice.

Candidates are permitted to take away the Question Paper with
them after completion of the exam.

The OMR Answer Sheet will be invalidated, if the mdidat:

i writes the Hall Ticket No. in any other place of O
except in the space provided for the p

ii. writes irrelevant matter, including the religio sy'n_lbﬂls,
words, prayers or any communicatio er, in any
place of the OMR answer sheet.

iii. uses other than Blue/ Black I to darken the
circles. -

iv. forgets to bubble the Qum:mklct number or bubble

multiple circlesina whiwﬁlling the Question Hnﬂl_det
No. or bubble &let No. other than allotted to him/
her. & |
rroneous/incomplete bubbling of circles

V. resorsto?
or usin the circles.
vi. U er on the answer gheet.
vii. attempté any type of tampering (rubbing the circles with

chalk powder/ scratching the circles with razors etc.) on
the OMR Answer Sheet.

viii. adopts any method of malpractice.
®20. No correspondence will be

entertained in this matter by the
commission, if the Answer Sheet is invalidated or his / her
candidature is rejected due to the above reasons.

:. 21. The digital copy of OMR Answer Sheets will be made available in

the Commission's website after completion of the Image Scanning.
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 Which of the following districts are HQI1r : i o !
covered under the ‘land purchase scheme ot ggod b

for the poor dalits in Telangana ? A. S SEreoe
A. Bhadradri Kothagudem F J
B. Hyderabad EF
C. Yadadri Bhuvanagiri

D. Rangareddy

E. Medchal-Malkajgiri

Choose the correct answer.
(1) C,D and E only

(2) A, B and E only

(3) A, B,Dand E only

(4) B, C and D only

COVID records a temperature of 106°F.
What would be the reading on a Celsius
thermometer ? o (V¥

(1) 41.5°C (2) 40.55°
(3) 42.5°C (4) 41*11**%( >

. As per NITI Aayog Soci h Sector
Report July 2021, m half of all
multidimensionally ividuals in India

live in the followi 3
A. Bihar ¢

. A person suspected to be affected with E RISt BSOSTR

¥, - .. R R N L
- ﬁll."-er- & L WS ) Ml '-':,"'.-' 2 ] et

ili-"”_'

y I:Ir. IT‘I-';" A1 . i ... .

B. Jhar
E
D. Pradesh

E. Uttar Pradesh
Select the correct answer.
(1) A, B,DandE only
(2) A, B and C only
(3) C, D and E only
(4) A, B, C and E only
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Urban Local Body Award

A. Sirci]}a l. Cleanest City
B. Ibrahimpatham 2 Self- Sustaining

City

C. Kosgi 3. Innovation and
- Best Practices
D. Siddipet 4. Fastest Mover

City

Choose the correct pairs.
(1) A-1;: B-4; C-3: D-2
(2) A-2: B-4; C-1: D-3 T
(3) A-3; B-4; C-1; D-2 [W]¥%*
(4) A-1; B-3; C-2: D4

5. Which one of the following is WRONG] g
matched ?
(1) Atrafbalda Hyderabad
(2) Indur Nizamabad
(3) Elgandal Karimnagar

Secunderabid, {f ’}

a Jﬁr
6. Three bulbs A, B and C in an exan’ﬂp%a.tfbn
1

hall glow with more brightn s@ um
brightness and less bﬁghm&%sgi%l}’-
Which of the three b%, s a large
resistance ? ;

(1) Bulb B »R% gﬁé

(4) Gulshanabad :

[(2) Bulb C

(3) The uuagbu"’% —A, B and C — have the
same nﬂst&nce

(4) BulbA

. The Personal Data Protection (PDP) Bill,
2019 was framed on the recommendations
of which Committee ?

(1) Rangarajan Committee

(2) Vivek Oberoi Committee
(3) B. N. Srikrishna Committee
(4) Santhanam Committee
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8 Which of the following political pﬂ:il;;
" nromised bifurcation of state of An
Pradesh in 2009 elections ?
A. Indian National Congress
B. Telugu Desham Party .
C. Communist Party of India (Marxist)
D. All India Majlis-e-Ittehadul Muslimeen

Select the correct answer.
(1) A, B and D only ;I.E I.I.i_'l
(2) A, Cand D only Dibsa:

(3) A,B,Cand D
(4) A, B and C only

Six members of a family M, N, O, P, Q and
R are travelling together. N is the son of O
but O is not the mother of N. M and O are

married couple. Q is the brother of O, Pisthe
daughter of M. R is the brother of N. How
many male members are there in the family,

travelling ?
(2) 3

(1) 2
.(3) 4 4) 1

Arrange the following districts of Telangana

in descending order on the basis of the
ercentage of SC population as per

2011 Census.

A. Jagtial

B. Jangaon
C. Mancherial '
D. Peddapalli i
Choose the correct order. et

(1) D,B,A, C (2) ChAyB,D
(3) A:r Di‘ B,C (4} Ci--.BiJniA

A dice with six facés.is iarked with six
numbers 1, 2, 3, 445 and'6. This dice is rolled
three times and three pnsitinns are shown as
below. What is the number opposite to 1 ?

VAR

(1) 6 (2) 5
(3) 4 (4) 2

10.

1.

opsn

&

6
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12. Which one of the followin

3.

14,

185,

g Was the earliest

o
aree
E HHH

capital of Satavahanas ?

(1) Pratisthanapuram/Paithan

(2) Kotilingala

(3) Amaravati

(4) Dhanyakatakam/Dharanikota

What will be the 7% term in
series 7

4, 16, 64, 256,...

(1) 16,384
(2) 65,536
(3) 32,768
(4) 4,096

the ﬁ}llﬂwing

Two statements are given below followed by
two conclusions numbered as [ and I1. Consider
the given statements as true even if they seem
to be not. After reading all the conclusions
conform which of the given conclusion(s)

logically follow(s), disregarding commonly_{

known facts. * §

Statements : Some Dogs are Cats, .
No Cat is Tiger. __ %

Conclusions : ()

[. Some Cats are not Dﬂ;g,_‘-—r
[I. Some Tigers are Q__qtﬁ.__

(1) Only conclusion IL.f6llows

(2) Both I and IL follow

(3) Neither I m;fﬂ’folluws

(4) Only_.cdhdigsiﬁn [ follows W
HH

Hepatitis=A is caused by

(1) A virus that spreads through air

(2) A virus that spreads through contact
with animals

(3) A bacterium that spreads through fecal
matter

(4) A virus that spreads through food and
water

o (3) 32,768 [EEEEN, S

22121
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16.

17.

18.

! : ' “ircle, square,
In the following diagram, circle, sq

triangle and rectangle represent for engil |
I T 5, o L™ o i I l: 1\".-

hard-working, urban and honest respectivel]

How many hardworking honest people, W i

: . z D)
non-urban and non-engineering are there -

5
K%
pad L

oy

1€ErS,

(1) 8 (2) 3
(3) 7 (4) 9

Monazite is an ore of :

(1) Thorium

(2) Zirconium

(3) Iron

(4) Titanium

Consider the following statements with

reference to Right to Education (RTE) Act,
2009:

A. It aims to provide primary education to
all children aged 6 to 14 years.

B. Itsmandates 30% reservation for
disadvantaged sections of the society,

Select the correct statement/s.
(1) B only

(2) BothAand B

(3) Neither Anor B

(4) Aonly
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19. The:new “Iacustial Policy Framework.

2014° of Telangana was driven b

t
consisting of Y the goal

A. Incorporate
B. Incubate
C.

D. Innovate

Inculcate

Choose the correct answer
(1) A, Band D only

(2) B, C and D only

(3) Aand D only

(4) A and B only

If AFHG is coded as INPO, then how RKID
will be coded as ?

(1) ZLSQ
(3) ZSQL

(2) AGFD
(4) ZSLQ

21. What is the principle involved in the

formation of mirages ? J
(1) Total internal reflection of hght-
(2) Scattering of light 1"“*‘ X,
(3) Dispersion of light &, | ’”*""’.’,_,,-c-"

(4) Interference of llght

o

‘x
"‘.
5
.|

22. Find the wrnng numb!ar in the following

EI'IES
60 20, .
8 1L zp 26, 2@ %1
(1) 28, (2) 26
(3).56. (4) 12

23, Suﬂyﬂﬁlbﬂuwmgwmﬁm}’ Hﬂw"ig
lcﬁmsamirmrmdlatﬂl}'plw&*?db}’a““mm
immediately followed by a symbol ?

P%R15H+MTE3BSVNKASWI 62GHUHTIAGLY
(1) 2 (2) 3
(3) 4 @) 1

-
e i
'\—I- -
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19, M’fﬁ:fﬁd ond E}I‘E*JHAJJ.'JIJL-JH-}:{ ,.-....L.- JE.U)'

"'I{}]'4‘I mau (ilu..-')-.u-i)t._f:"?-.ﬂ._;' :‘.'l.."-.r-t..-.a.-lL-.-'
A. 5090 (Incorporate) ONAD|
B. es8cfod (Incubate) "El ': _

G &S50 (Inculeate)
D. €320:300:0 (Innovate)
SO SBIGTRy SO Do
(1) A, B 50a00 D sresiy
+ (2) B, C 308050 D S5
(3) A 00050 D i
(4) A 500a50 BETRSS
r_-.»"""h'“ B
w56 38, 00 §66"
"RKID: & Dard 2
(1) (2) AGFD
zsoL (4) ZSLQ
21 Mom;s;m DyE206° FRGCLS) TS0

20. AFHG.D

22,

8, 12, 26, 28, 56, 60, 120, .....

(1) 28 @) 26

(3) 56 @) 12

23

B0 B3 eritiT exisoiio Yool Hnotd
HEERD .8 Doy oD B o &8
08 1o S507e0 oy ?

sl6@a PY%R1SH*MTE3BSVNKASW162G#UH7IAILY
4 ) 3

@) 1

P.T.0.
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ﬁ! s iziﬁmﬁmzolsmzml
54 The following line graph gives the ratio B MAck <055 7008 o5 Ko2D) BN ooy,
the amounts of imports of a company (€ the o5 Komd) B0 JoB00 FOTED Skt

amounts of exports of that company overthe I :}%@ﬁ aaumé@o& L5 2018 & SO0
period from 2015 to 2021. If the imports of = . 272 S 028, 2018 & ¢

the company in 2018 was Rs. 272 crores, the e E (EGer.g S
exports from the company (in Rs. crores) in G008, 0%

2018 was EEE
arg s
E HHH

Imports to Exports Ratio/ 815555 %%

Ratio/ 25
7

2015 2016 2017

(1) 300.6 (2) 217.6  ~RiEH) BIsEl  3) 2176
. ,"I.' - ,' o 5 _ '.._ | : - .
(3) 215.6 @) 330.6% ERE 3) 2156 WEEE (4) 3306

25. Which of the following
statements pertainin

correct ?
A. Since 2015, Tel tate Handicrafts

Development C’ oration has been
using C@m trade mark.
B. Ush lage in undivided district

nf@d is known for Dokra metal

al furniture received Geographical
Indication (GI) Rights in 2012 P
Choose the correct statement(s).
(1) AandB only
(2) Bonly

(3) Aand C only
(4) A,Band C

related
angana are
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26. Who among

cause of for
9

the ﬁ)l]ﬂmng su
Pported for th
mation of separated Tt.langan;

state
A. Chandra Shekar ,EI ..E
B. V.P Slﬂgh E HEY

C. Mamata Banerjee

D. Sharad Pawar

Select the correct answer.
(1) A, Cand D only

(2) A, Band D only

(3) B,Cand D only

(4) A, B and C only

27. Arrange the fnllnwing events of the Indian
National Movement in the chronological
order of their occurring :

A. Chauri Chaura Incident
B. Rowlatt Satyagraha

C. Champaran Satyagraha
D. Mopalah Rebellion

Choose the correct answer.
(1) C,A,D,B (2) D,A,C,B

(3) B,D,C, A (4) A, c%\"
28. What is the angle between thesminute hand

and the hour hand of a loc ep the time

is 8.30 am ? A -

(1) 75° _
(3) 105° 'El--

29. Match the f IHE

Phy i Iltl'}’ Unit
of matter 1. Watt

2. Mol
3. Knot

‘*ﬁctncal resistivi
4. Ohm meter

D. Speed

Choose the correct answer.
(1) A-2, B-1,C-4,D-3

(2) A-2,B-1,C-3,D4

(3) A-4,B-2,C-1,D-3

(4) A-1, B-2,C-3,D-4

22121

708 IS8 ,..én;_: QOO G‘&
G"Hl'.'...;_- a}qu&;uu_t’»& 7
A. So 3pb
B. .. doh
C. 30808 B3¢
D. #6 3376
mr:a SITETY) dos E.ugoa -
(1) A, C 508050 D S50 & "
() A, B 506055 D mg:siu
(3) B, C 50805 D:.m@ﬁ:
o(4) A, B 500509, 57

(2) D,A,C,B

3) B.D,C,A  (4) A,C,D,B

28. 35000 &SaH0 8.30 LN 8.8

HeairSo G, R0SE S0oey, Mot soodh skl
§°620 Jodh 9
Q) 75° (2) 60°
(3) 105° (4) 85°
29. Ec8 T3
FOE o3 (Seae
A. 3o o' 1. ¢S
B. g 2. rd
C. Wb ATEEE 3. ¢S
D. 3¢ 4. &5 b
R0 STy Dok Tahod.
A-2, B-1,C-4, D-3

(2). A-2,B-1,C-3, D4
(3) A-4,B-2,C-1,D-3
(4) A-1,B-2, C-3, D4

P.T.0.
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31.

Monthly Domfﬁc__— O

Entertainment /DSco 9:&

10% &

Children
Education /Sewo
DAY
25%

House Rent / moé) o8 \ 4 =2

(3) 1.80 f

Match the foll
works :
Work

A. ju Maharaju 1. Enimido

C. Ampasayya Naveen 3. Matti
Vasarah

D. Panjala Jagannadham 4. Cheemalu
Choose the correct answer. 4
(1) A-3; B-1;C-2; D4
(2) A-2;B-4;C-1;D-3
(3) A-4;B-1;C-2;D3
(4) A-1; B-2; C-3; D4

Jangaiah 2.
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32. With reference to the Centr

Investigation (CBI), consider
statements :

A. It functions under the Department of

Personnel, Ministry of Personnel, Public

Grievances and Pensions. Government
of India.

al Bureau of
the fﬂ[lnwing

. The CBl derives powerto Investigate from

the Delhi Special Police Establishment
Act, 1946.

Ok{0)

e

Select the correct statement/s.
(1) B only

(2) BothAand B

(3) Neither A nor B

(4) A only

Vishal walked 25 m towards north. Then he
turned right and walks 40 m. Then he turns
right and walks another 50 m. Then he tumns
left and walks 20 m. Finally, he turns left and
walks 25 m. In which direction and how many
meters is he from the starting position ?

(1) East, 30 m (2) West, 55 m
(3) East, 60 m (4) West, f-15 m

33.

34. Which satellite was launched firstb

indigenous launching vehicle/ -
(1) Bhaskaracharya (2)_

(3) Saraswathi (4) /Aryabhatta
' @

Consider the following?)

A. Jakkana wrote Vikramarka Charitra.
B. Srinathasrote'Shodasha Kumara

33,

Charitral,
Cs Pedhkﬁf%ti Vema Reddy wrote
~ Shabdaratnaakaram.
D’."“"S(hl'g"habhunpala wrote Rasaarnava
Sudhakaram.
Choose the correct answer.

(1) Aand B only

*.

W

o

(2) B and D only ,EI ..E]
(3) Aand Donly [ ‘
(4) C and D only -

32, dod

33. 270 g8 .

35.

22121

-r_‘h".""'..rF *\-_;,E-E “'ﬁia-\._'.':"a E,
ln.-.l-.-'ﬁ"-.-' =

71" ttttt = —
:ll_l_.-‘:l‘\._{kq.-‘u'

(CBI) S ScexcdhHou,
- 2

= -
l'h,.'l--"\-"--. 1

]

'-.,1‘.---.53

b Ko o’ '
e

H]

RH. - oy ey e R e
SO0 TPy 0N
=

-5 3 a Al

w Rl oy ey
" e ) o AL L T

il A
-

=

-

Fobcd. ol
R’)@:ﬁ T55(2) 0 DO 333;:&. X
(1) B 3@ L)
.@ A 3508050 BBocTl 3
(3) A S00ckv B e 50
(@) Asr@do N Y

b SETPED. S,
). 40 5. SEDS BETTS 39
S8R 555" 50 Do SdTre. &3 B
HOA 20 Do 58D, DS So%)

a&mmmbaﬁ‘.sﬁaw
ETt0s” ?
8y, 3020 (2) B&E508, 55 W
() &, 602 (4) SE08, 45
8 AT TR0 TPgO [0k
ESItro 08 2
(1) FHoTS; Eored
(4) &G5e
808 TedD Soledotod.
A. 2535 JESE) SO0 ST,
B. 3760t ES HSTE SOBS
0 S5 degsaSe
C.
BDOTED. %
D. 2oSogiraresty SrES Sogrsto
BRoT . 0

(1) A 350050 B Sr@
(2) B 508050 D 3753
@Amnm
(4) C 500 D Sresas

P.T.0.
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P S
: D50 ?
& | 36. &3 i e oo s $W%o |
36. Who is Prajakta Koli ? : A. B $008T°G0 2P .)%
A. She is UNICEF India’s first Y‘i’“t | UNICEF wmmw
' : : education. o _
champion for slum children | .
B. She is UNDP India’s first youth climate B. &30 UNDP E.J“ﬁ‘fém 30003 N
champion. | S50y oY ?040135&5 m iy
C. She is a YouTuber known for her channel C. 530 8-50517:"*’5'5 ) w
‘Mostlysane’. I DS OO 258.
ooress wad 20 O
D. She has participated at the UN 2019 D. 530 D557 N
International Day of Tolerance. m&q@cﬁ: £.0.00 ;ﬁ&
E. She has released a short film named

Khayali Pulao. Oki0

Select the correct answer.  [aB¥%
(1) B, C, D and E only

(2) A andE only

(3) B, C and D only

(4) A, C, D andE only

37. Match the following agreements, formulas
and presidential orders with their respective D
years of promulgations : s

Agreements, Formulas YéQ

and Presidential Orders

A. Gentleman’s \ :' %
Agreement

B. Eight-Point Form @

of the Prime Mini 2. 1975
C. Six-Point Fo [ﬁ‘thg
Prime Mi 3. 1976

4. 1956
o 1978

[l . e RS = L
b, LT R | ¥
L N -
, 3 1
] Y e
3 e
5 O = = " = — — "

.'.l','.:-_ L .-_'-.r.'. = ‘:.1:::_:-: - |: T -4 == T 1. - —

"‘;. e T = W _ ¥ F w INE W 3L 3 1 ) TE T .
W - . N —r L —— e &, . Ly e Sl
= e, N T .".nl; v AN s S S T

R s

I e o =" e e e :

B . ' = Y ==}

. - L'l 1) o | o JJIE L i = Y
e L, 'I"u.' e P T, I "_. ! o g e
L ad
T e % e T - e
[ A g ¥ g Ry ey, - NI Fad Bd® il
Y s Bw %y i m S 1 .I_| -

1111111

Select the correct answer

(1) A-4; B-5; C-3; D- |
(2) A-4; B-1; C-5; D-2 %ﬁ )
(3) A-3; B-2; C-1;: D4 g

(4) A-4; B-3; C-1; D-5 !
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38. What are the focus areas identified by the
Telangana's Al Framework, 2020 2
A. Health care

B. Agriculture

C. Mobility

D. Education

E. Law enforcement

Select the correct answer.
(1) A, CandD only

(2) B,C, D and E only
(3) A,B,C,Dand E

(4) A, B, Cand D only

39. Consider the following statements:

A. Gandhiji’s Salt Satyagraha was a signal
for the starting of the Civil Disobedience
Movement in the country.

. The Second Round Table Conference
was held at Delhi.

. M. A. Jinnah proposed the *“Two-Nation
Theory” in the early part of 1942.
. ‘Do or Die’ slogan was given

people by Gandhiji on the, %he
Non-Cooperation Movement.
% ‘ﬁ
arat:
E HHT

Choose the correct answer.
(1) B and C only b %
(2) C and D only

(3) Aand C only o=~ @

(4) Aand B only™")

40. Read the following statements about Ms. Liz
Truss, formen Prime Minister of Britain:
A. Msuliiz Truss became the fourth female
{P{ﬁge inister of Britain.
B\
- "-:ﬁ

7-year-old Ms. Truss belongs to the
\\ onservative Party. " e
C."Mr. Rishi Sunak, the former I'in
Minister lost his leadership bid 67%-33%
to Ms. Liz Truss. _
Choose the correct statement(s). .,I‘ c
(1) Aonly oy
(2) Aand C only :
(3) B and C only
(4) B only

15
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£ F e & L '
38. Boorres Al (o 36;, 2020 Trco® KoBoUedss
S L

Ociren Ja) 7

NOAnJSJ -
B.
C. 3000e
D. desg
E. Sero esoes 4\
BB ISR JoE Yol
(1) A, C 508050 D 5@ _J
(2) B, C, D 508050 E 3z

{3) A, B,C, D580 E

[t

:.@#@a

. M.A. &7 1940 @Sogioé” Socoo BFre
:}“ {%E@}waimd‘"

D. mode e ‘G &b & /8708 Dol
3ahod Sor & orSod’
Do SSabdoIRes efibo

5385 e300 JooSod.

(1) B o8k C S

2) C 58080 D SrEiad

@Amcm

(3) A Sodai» B SomEsao

40. BE 0 DRSS EES S0 000D S8

TPy RS0 ¢

A. B R B0 B e S (555 o,

B. 47 S0580o €35 Soeiedd 288 o808,

C. 372 5% 500D eod SoiE &5 Trabsdsy
Mﬁgﬁ' 67%-33% & S \atred.

SO T (@) o Dabodk.

(1) Asrgo

2) A 5oBaso C S

@Bmcm

(4) B @D

P.T.O.
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42.

43.

22121

f
j N &Mﬁwégﬁﬂfmg# D) 9
Which of the following are the observations : A 0% D ﬁﬁﬁg_, gucﬁzg&aﬁﬁ, 7 &:“"Lm
' ikrishna Committee - o> HESOT :
ufs?il:nflh“a r :astes in Rayala Seemd ,3“5':: el 9 3 ¢ & 3
. & ugstgﬁg.ndhm are vehemently again B. BwolTes @55;5005 ZJ{J": S0, SdoSady
the idea of dividing I:u: ?mtellvemenl 7 < c;;e:é‘ ol ;‘Q B0 ATFERE0
is a large-scale mnvo : :
- ;I;t,l::ll:ntl: iancﬁilgtiing those from Dalits 3@9&;«'«3@3 g}wﬁﬁ S
d backward castes in the Telangand C. o508 X ;mm
;nnvemenL . q : 6'5‘53&3& .8 oy @8 G0y, RSy
C. Telangana movement can be mterpretﬂd GO TSWBD
" as a desire for greater democracy an S 5
empowerment within a political unit. D. @eolve &e5s
D. The Telangana nlmve*nt;c:;tt_ %ﬂ:ﬁn]:&ﬁdﬂ 1 erBah SR055ES
threat to national unity 111
for longer period of time. S5O0 HOTP°”
Select the correct answer.

(1) Aand D only
(2) B, C and D only
(3) A,B.Cand D
(4) A, Band C only

Which of the following is NOT a scheme/

yojana/programme meant for roadways

infrastructure in India ?

(1) Prime Minister Bharat Jodo Pariyojana
(PMBIP)

(2) Pradhan Mantri Vaya Vandana Yq’\

(PMVVY)
(3) Bharatmala Pariyojana \(\
(4) Setu Bharatam Pro
Vivek is the brother of thi is

the sister of Abhishek. is the son of
Bharathi. How is Viv§ to Bharathi ?

(1) Son Father-in-law
(3) Brother +(4) Nephew

l. Resin

_E 2. Bark
> w3 RhiZﬁ]]]ﬁ

D. Haldi 4. Gum

5. Latex

Choose the correct answer.

(1) A-1; B-5; C-4; D-2
(2) A-5;B-4;C-1; D-2
(3) A-5;B-2; C-1; D-3
(4) A-5;B-1;C-2;: D-3
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45. The ISR Subramanian Com
associated with which of then}g:f;\ﬁr?; 1’ is

(1) Review the processes, laws and acts of

the Ministry of Environm
C hmate Chﬂﬂge ent, Forest and

Development

(4) India’s efforts to counter internal

an
external terrorism g

46. Who among the following Asafjahi rulers
used the title “Nizam’ for the first time 2

(1) Nizam Ali Khan (2) Muzaﬂ‘arjung
(3) Sikandar Jhah  (4) Nizam-ul- Mulk

47. Match the following :
A. Kakaori Rail I
Looting
B. Killing of Sanders. 2.

the Police Officer
C. Bomb explosion 3.

Bhagat Singh

Chandrasekhar
Azad

Ramprasa

at the train in Bismil _ ™
Egﬁl which the Viceroy -:_~.,,_%: ~
T was travelling
— 4, 3111% gen

-|_.__

Choose the correct answe?' |

(1) A-4;B-1,C-3 _ @) A-3; B-1; C-2
(3) A-3; B-4; C-1{ g4} A-1; B-3; C-2

48. Read the fullpwmg palrs about the
Intemannnaﬂ-glteracy Day (ILD) :

A. lutematmnal Literary Day (Month and
_Daté)s September 8

B “Organisation of ILD : UNESCO

C. Theme of ILD 2022 : Literacy teaching
and learning in crisis and beyond

Choose the correct pairs.
(1) Aand B only
(2) A,Band C
(3) B and C only
(4) Aonly

17
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45. TSR Sopnioedans 2oed (2014) 308 =

ijr.-i OROLOWNSE 9

U} :J}U'é:.rc&mf: ::_.aL.rL 063 TJL;
.-.-J'D[_@ﬁ*‘ TP ,,_w!gu.l.-w ;...;E... Dedd
E@mia-ﬁ:‘:i::

(2 :ft.lbmﬂ 0 o uf‘...-,..n diﬂ,—
;Sraj;:i ;5.:5::5_,& m@aﬁ VB EBOS &y
8o, Seross Sofiostio

(4) wosss, a:';’J‘;S G TR’ 2508 ) 508

AROTL T o) BT

46. 8B ensHerer ipegxfif IO Dezro’ e
BN DRSS BIAOTED 9

@) 2= 2) Sooerpb esoff
(3) &> 4) o ad snd,
47.
gs‘a e 5‘::& . 2 2ok
8 ﬁa B. 285 eb56 2. SosBpb eserd
Focshy :
C. 3@rcdd 3. croErs Dy d
@m% Sood
4' m -ﬁs HHH
SOGHS SSTET R JobE Jabod.
(1) A4, B-1,C-3 A3, B-1.C2

(3) A-3,B4,C-1 (4 A-1,B-3,C-2
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Aniketh secured

ns,
49. In a class of 40 perso e erofthe ataxd

50.

<3 4

52.

o3,

20" rank, if the maximum he ¢
was given 1% Rank. If the 15 rank is given

two. What will be the

‘ ‘ { these
in the middle o e erito G

rank of Ankith, if the 1
maximum scorer of the class 7

(1) 17 @) 23
3) 22 4) 25

Which of the following districts of Telangana
have the border with Chhattisgarh ?

A. Ja}rashaukar-ﬂhupalapalli
B. Bhadradri-Kothagudem
C. Khammam :
D. Mulugu %
Select the correct answer. -
(1) A, Cand D only

(2) A, BandD only
(3) B, C and D only ‘

(4) A, B and C only
In a code language, if WWT%
written as 8150241932, ho -

be written ?
(1) 81531311291 1311391

(3) 81531311391 2431311291
L

-operation between the |
a and the Government

s of America concerning

of Nuclear Energy’ is also

________________

(3) 124 Agreement  (4) 121 Agreement

!f+ o ddna +’ — means +-,|| - m -.-i:r W oo
* means —, then what is the value of th
following ? what 1s the :{.._.-___- f th
20 % (4+6-4+2)

(=2 2) -6
(3) -26 @) 6
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54. The National Disaster Response Force

54. 3558 Gergl By 6y (NDRF) &= 808
(NDRF) consists of battalions from which

D ScieH $owofodI o8 SerDagis SDA

of the following organisations ? &0 9

A. Border Security Force A. DOTE; GEer S¥0

B. Central Industrial Security Force B. Soi5 IOl e %0

C. Central Reserve Police Force | C. S0 05385 ovo

D. Central Air Force D. Soi oo &¢¥o

E. Central Naval Force % E. Soiis s &%o

Select the correct answer, . I OGRS RITTT N JoE

(1) B,D and E only (1) B, D 500050 E 35
{2) A,C,Dand E only d2) A, C,Ds Doy E 3B

(3) A, B, Cand D only (3) A, B, C:pagiy D so@id ,
(4) A, B and C only | @ A SRl Srsds iy

55. Consider the following statements : 55. 300 FgPimad SOMed

A. The official language of the Indian Union
shall be Hindi in the Brahmi script.

B. The Constitution recognizes English as

e

the primary language of the Suprem &

1
.
o

- -
. %
Iy L
- O
S L R L
ol g I
o
- |_"_ =
: 5|
=,
| e e el #
e . - ]
el Y o
A T e
By v
S
9 =N e o
0 o]
1} . o
-

Court and the High Courts. . X
Select the correct statement/s. e

(1) B only

(2) BothAand B @
(3) Neither A nor B

(4) Aonly %®

Choose the correct answer.
(1) A-2;B-1; C-4: D-3
(2) A-4; B-3;C-1: D-2
(3) A-3;B4;C-2;p-1 =

(4) A-1;B-2;C-3;D4
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57 Match the following marriage assistance
schemes of states in India.

Name of the Scheme/Yojana State Name
A. Bidaai (Shaadi Scheme) 1.Haryana
B. Mukhya Mantri Kanya 2. Karnataka

Vivah/ Nikah Yojana
C. Mukhya Mantri Vivah 3. Madhya
Shagun Yojana Pradesh
4. Uttar
Pradesh
Choose the correct pairs.

(1) A-2;B-4;C3  (2) A-1;B-3;C4
(3) A-3; B-2;C-1 (4) A-2; B-3;C-1

58. Who was the last ruler of the Qutub Shahi

Kingdom ?
(1) Abul Hasan Tanesha

(2) Sultan-Mohammed Shah
(3) Jamshed Shah
(4) Abdullah Qutub Shah

59. In India, the first shore-based iron and,s '
plant is located at Q
(1) Visakhapatnam (2) Ch
(3) Mangalore (4

60. Who among the g did NOT

participate in the V. Movement
of 1938 in Hyd |

(1) Ach
(2) Ma

3)

& I

umantha Rao evilEl

li Venkateswara Rao iR

Narasimha Rao thy

61. Which of the following Presidents of the ther
Soviet Union had taken the decision to pul
out Soviet army ﬁommm g
(1) Mikhail Gorbachev
(2) Nikita Khrushchev
(3) Boris Yeltsin
(4) Leonid Brezhney

S50 e TPRe Bt
A Do (X8 M) 1. oz
B. sooggeoo® 55 2. Sques

Nsge / Dgp GATERD
3. ot
&30 a8
(1) A-2; B-4; C-3 A-1; B-3; C4

B
;l‘i.' --._ [}
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62. The Governor General who fi

63.

. rst impos
censorship on newspapers was isaco

(1) Wellesley
(3) Cornwallis

(2) Hastings
(4) Dalhousie

Consider the following in relation to
Rights of Persons with Disabilities Act, 2016.

A. The act provides effect to the UN
Convention on the Rights of Persons
with Disabilities.

B. No promotion shall be denied to a person
merely on the ground of disability.

C. No person with disability shall be a
subject of any research without the
consent and prior permission of a
Committee for Research on Disability.
The persons with disabilities shall have
equal protection and safety in situations
of emergencies and natural disasters.

-IL

. The act provides for cnnducnng surve)
of school going children in every

years for identifying chlld,gen@

disabilities.
;@‘

Select the correct answer.
(1) B,C, D and E only
(2) Aand Bonly ™\ -
(3) C and D only & '.}

(4) A, B, Cand D‘*Qgplrf

The main ub.lactme “of the Regional Rural
Banks {RRBBZT‘F'E to provide credit to

A. Agﬂa@tural labourers
B, Margmal farmers

“G..Small entrepreneurs

D. Small farmers

Choose the correct answer.
(1) A, Band D only

(2) B and D only

(3) AandConly g
4) A,B,C,D

E :.:-'

21
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62. T HB50D JoeID escfes YOS IS

35556
(4) Q{ZEJ O} aas

OF::
(3) Ta’i'ﬁ 00
63. Asgroive TEE 9630 2016 £ Sowohod
[ Léﬂ‘& U""E:}:\} me I'." :";_
A Es 360 D550 mpmm T
E3getd ?Gaﬁm’:o'-l' RS,
B. S0 38050 sv-::-mm D &5 358 BTG
mgaoamm

C. 5518 eﬁ;;i:& DSerorie S8 e K
Dol B8 @8 Som JseoN
;:gsiwme‘am SaHoreso.

;::@0 35bergen, B85398 S0RSw
’Www&gm £

:j E&yomrd.

" E, DEorolf Dooso KHB0R0t (38 3G

tém ,ﬁ;@wm m&ama@,m:ﬁs

B%’E DBroTed S0 SBFERHD.
mm&mm
(1) B, C, D S508a%x E Somgsa
(2) A SoBakn B S
(3) C So8akw D Sovesa

‘A,B,cmnm

64. @rodaD grabves ersoe (RRB o) (675 050
208 T68 toeTd) oBoo 3
A. S5yt K00
B. S5 (7 gisd) Bebes
C. D) 805 35soe
D. 3% (9) S
mmmm
(1) A, B 5080k D 57
(2) B 508050 D 5@

P.T.0.
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FySE

2023 falls on Saturday, what

65. If 18" February o . 2023 2

will be the week day on 08'

(1) Tuesday @ (2) Thursday
(3) Sunday g% (4) Monday

66. Consider the following in relation to air.

A. Atmosphere is made up of approximately
78% nitrogen and 21% oxygen.

B. The other gases of atmosphere arc
carbon dioxide, neon and hydrogen.

C. Carbon dioxide in the air can be both
good and bad.

D. Air pollution is measured with the
Air Quality Index (AQI). The higher the
AQI, the cleaner the air 1s.

Select the correct answer.
(1) B, C and D only

(2) A.Band D only

(3) Aand B only

(4) A, Band C only

67. In a certain code language, MONEY '
written as XDMNL. How is DELHI w

in that code ?

(1) HGKCD 2) HG :

(3) HGDKC (4)

ements is/are

95163550 2 '

. 08 ;L‘é‘aaﬁ 20235 &fers D TE0 9S00 .
(1) Sonearso (2) OSSO
(4) S5oT5o

66. O3 “opohow &2 lola) eI me-
A. TS0 oo 78% E@Sﬁaﬁ‘;' 21%
&5&3&35@55 §3"(3a &ﬁ&ﬁ.

B. Trorsdeod @ 380 I S5
Ed}ﬁ)é, Do, ?{L&G -
DS S5 TGOS @ 3¢
Soti eXeTen gﬂﬁ!

D. TPO¥0 S°ease) S‘{_-:,@éj qanJ

(AQI) & b’

éoejﬂ“ Dfe g
ok mmm a

ll.-_ .:.1i‘_'_|_ _-:j I|

“Telangana State [u = o a0 5

and and Control Sl -
Gy~ §HEP0 DO /o) OGS

68. Which of the followi
correct with regard
C
?

Police Integra
Centre (TSI@
A. Itwasi ted by the Chief Minister

of in August 2022.

B. oundation of the building was laid
ulthe year 2018. :

Choose the correct statement(s),
(1) Both A and B
(2) B only

(3) Neither A nor B
(4) Aonly
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$9. Find out the next term in the

70,

71.

712.

73.

. ﬁﬂluwing
SCries.
CPK. ETR. HYZ. 9 PEEI
[” LIL {E) LEK. E HHH
(3) LB (4) LLI

Thick deposits of glacial clay and other
materials embedded with moraines
as ‘Karewas are found in

, lermed

(1) Sikkim Himalayas
(2) Himachal Himalayas
(3) Kashmir Himalayas

(4) Arunachal Himalayas

Select the correct sequence of arithmetical

signs to replace the symbol $, to balance the
following equation.

(1) +4=x

(3) +-=+

N\ -
What is hydroponics :ﬁ*&w
(1) Method of gru(}wn ts with soil
(2) Method of gmw;.g@ plants in drought
(3) Method ﬁf gmiung plants in green
hDLI,SE‘ -

(4} Method of growing plants without soil

Tl'lﬁraliu of current ages of Pand Qis 2 : 3.
If the ratio of their ages after 20 years IS 9:11,
then what is the sum of the current ages of

P and Q (in years) ?
[=] £ [=]

(2) 50
(4) 35

(1) 45
(3) 40

69,

Bob B8’ 5550y BESO SOy KRS
CPE, ETR, H-"'I"Z, /4

(2) LEK
(4) LLI

| » =
70. 50580 wo¥Soe) So0ATBIG0 00

OIS RO ST LERINZT e,
‘SR’ e Hesersd qs‘td hr_.'}'a()w
(1) rﬁlp FSredirad | 1

n. b
o Bafreod, § D54 98 Saoamds B103
sz\ 13N eosKeds SoSTre Mok, 55 S5

.l-:-‘t‘

(.

£7R) Hotoeso (2758)

m?bcc’s

150$28$508500% 2

(1) =+=x @ X—==
(3) +—=4& (4) x+=+

72. EPG) SHTRW 2

(1) 308 Antem Dot grso
(2) 2egrs S0pEes” JnoKes o Agrso
(3) SIS o8 Faxgeo o grso

73. P 8ot Q © (5 Sane NyB 2 : 3
253, 20 SoSEore S0 TO SAne
23R8 9 : 11 &00d, P, Q © 8 Sabdne

oo 208 (S E)
A1) 45 (2) 50
(3) 40 (4) 35

PT.O.
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in descending

74. Arrange the following states
order on the basis of their gross st_g:;
domestic product (GSDP) at current pri
(base year : 2011-12) for 2019-20.

A. Gujarat
B. Madhya Pradesh h oFf

C. Maharashtra: S
D. Tamil Nadu

Choose the correct descending order.

. (l) C,A, Di B (2) A, C1 D, B
(3) B,A,D,C 4 C,D,AB

75. Which one of the following is WRONGLY :
matched ? ' @
(1) Comrades : P. Sundaraiah
Association
(2) All Hyderabad : Burugula
Students Union Narsinga Rao
(3) Attack on British : Turrebaz
Residency Khan
(4) Nizam’s : Sir Nizamat
Subjects League Jung |

76. Consider the following statements Wi

reference to the 1037 Cunstitutﬁﬁ ) 4 5
(Amendment) Act, 2019 : Q o TEPpOR0
A. It amended Article 15 am:lp@ of | e A -

et [8]

EWS (Economi er Sections) IS T "
Select the co entls. e |
(1) B only
(2) Bo d
3) A nor B

( y

77. The _fnllnwing is considered as a base for
creating the United Nations Organisation . |
(1) 1943 Quebec Conference
(2) 1943 Teheran Conference
(3) 1945 San Francisco Conference

‘4) 1944 Washington Conference

ths Indian Consfiltio ouS00D8.
> EWS (Esonr % o 0 3. 36 10% EWS (5Q%0rw 208
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7 Who built Falaknuma Palace 2

80.

81.

(1) Mir Osman Ali Khan

(2) Vicar-ul-Umra ORi0!
(3) Nasiruddaula "E'
alalls

(4) Nizamul Mulk

Who dAmong the fﬂ"ﬁw l]'lg panlCIPﬂlﬂd in the
Vaikom Satyagraha Movement ?

(1) Sri Narayana Guru
(2) B.R. Ambedkar

(3) Ramaswami Naicker
(4) Beharamj Malabari

Vast limestone deposits occur in Telangana
in which of the following districts ?

A. Nalgonda

B. Vikarabad

C. Manchenal

D. Wanaparthy

Select the correct answer.

(1) B, C and D only e
(2) A, C and D only ‘i'«, S
(3) A,B,Cand D
(4) A, B and C only

Match the fnllnwing

A. Ponneganti e
Telaganaryu varﬂnu yanam
B. Addgnkl ,-. Cﬂgf ?2 Yayathi Charitra
Gan ad.bé %
B l{;;mg @ 3 Dashara:cjha
G anna Rajanandana
| % m] Charitra
Dy, S ﬁ’m acharyudu 4. Dasharathi
JO &b ol
5. Vaijayanthi
Vilaasam

Choose the correct answer.
(1) A-2; B-1; C-4; D-3
(2) A-3: B-2; C-5; D-1
(3) A-4; B-5; C-3; D-2
(4) A-1: B-2; C-4; D-3

22121

Sy il [

s = i
i i P!

78. Hobone s8R By o 1
& L Sy B oo o E

{!] U:JS (= 'i-x..l Lo @ o
Dsrb-&d-aiEsr

[3) T

(4) Dezrsnd :3.1:5}

Py J-TH
E HHH

79. 308 706" IE'D> JE n&gw.&x’j St
PE TN ? %
(1) % TPOPaioes Moo
(2) E}E‘EE Eﬂﬁiﬁﬁbs
@ D‘“ﬁfﬁ“ﬁﬂ Tﬂﬁaés
(4) Birorod mﬂ‘ﬁ

v (1) B, Cmvm
T (2) A, C SoBasn D S
(3) A.B.C36aD

(4) A, B 3oBain C Srgsd

81. 00 el 2BIGTCE.

A. o8l 1. 8358
BORIEE ROSTET Jrgrgso
B. egod Korrgs 2. aooird 508
C. 5038 RSy 3. S¥0E CuSosS
DOB
D. dorrardgis 4. OrICH IS0
5. Desciood Do
(1) A-2;B-1;C4; D3

(2) A-3; B-2; C-5; D-1
(3) A-4;B-5;C-3; D-2
(4) A-1;B-2; C-4; D-3

P.T.0,
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83.

85.

82.

th
Read the following statements about the 44
Chess Olympiad which were opened on

28t July 2022 : ”
A_ For the first time, the Chess Olympia
was held in India.

B. The 44t Chess Olympiad was conducted
‘El

in New Delhi.
Choose the correct statement(s).
(1) Aonly
(2) BothAand B
(3) Bonly
(4) Neither A nor B

The introduction of principles of self-
government in municipal administration in

India was the result of the following :

(1) Lord Curzon's Resolution of July 1866

(2) Lord Dalhousie’s Resolution of April
1901

(3) Sir William Bentinck’s Resolution of |

February 1903
(4) Lord Rippon’s Resolution of May
1882 '
o (X1
Which irrigation project in Telangana i \
oldest among the following ? & )
(1) Priya Darshini Jurala 6

(2) Nizamsagar
(3) Nagarjunasagar _g
(4) Sriramsagar

Consider the o e

A. Sprite ink : Trade secret

B B li variety : Geographical
indication

C. Computer software : Copyright
D. Crop variety : Trademark i
Select the correct pairs.
(1) B, C and D only
(2) A, B and D only
(3) A,B,Cand D

(4) A, B and C only

rak

L

L& BF
1

L & =
3

N

=
L
LS > L=
—_—
5 &1 Sy,
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6. In a certain coding meth
POLITICS is coded as 103 E:I?I‘PI(I;\GNERHI‘; 86. e85 DORECoR 5GBS, POLITICS e 560

coded as 3?. what is the code for the Word 103 i 35080 POWER &3 565077 e §'&
MONEY * | Saedd, MONEY o 5o SE Do 9
(1) 72 2) 78 | @ (2) 78

| 87. mmmmwajm

India ? RO @k, ST 9
(1) Bodo (1) &€

(2) Dogri 2) &n O

(3) Andamanese | (3) eotssrdi

(4) Bengali

88. Which one of the following extreme weather

events reportedly claimed a greater number
of deaths in 2021 ?

(1) Heavy rainfall and flood
(2) Cyclonic storms

(3) Thunderstorms and lightning
(4) Dust storms

(% £ 3
89. Fin_d out the nf.;xtte!'p inﬁrefo W
.1..«“ ! ; y o s
AL BbH A, brL 2
EXT
(3) EYV

al’vaccine ‘iINCOVACC™
approval in November 2022 |
DCGIL. 1 |
B. It is world’s first intranasal vaccine.
Choose the correct answer.
(1) Bonly

(2) Both A and B
(3) Neither A nor B
(4) Aonly

A. Intr
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&
91. Match the following waterfalls with their

locations.

Waterfall Location
A. Dudhsagar |. Odisha
B. Bharkana 2. Goa
C. Duduma 3. Tamil Nadu
D. Ayyanar 4. Karnataka
5 Kﬂl‘ﬂlﬂ |

Select the correct answer,
(1) A-3; B-2; C-4; D-5 :
(2) A-1; B-3; C-2; D-5
(3) A-2; B-4; C-1;D-3

(4) A-4; B-1; C-3; D-2

92 Article 324 of Indian Constitution deals with :

(1) Provision for Comptroller Auditor
General of India

(2) Supreme Court of India
(3) Provision for Election Commission

93. In which of the following states,
wage rate was fixed for the unskill
workers for 2022-23 by the Go

E HH- |
94. Which organisation members had undertake
the Chittagong Armoury Raid ?
(1) The Indian Republican Army ¥
(2) The Indian National Army
(3) Provisional Revolutionary Army 3
(4) The Indian National Congress
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95. In a certain code IangUﬂgg
Simple Plan’ was written as EC&Q:EI; >
4E6’, ‘Tired Solution Plan (i?;*zms
written as ‘#N8 @D5 9 Ts &TS" .;ES
Point Good Turn’ was written, as ‘#l(ti ﬂfgl«;
@N4 &T5’and ‘Garden Sister Phone :

“Given Time

was written as "&ES #R6 %Ng (gﬂM4-T\iﬁahn:
will be the code for “Trans]ate’ .?"’ ‘ L
) @E9 g

b e e
(3) #19 EER  (4) #E8 El'*fﬂ.é

96. fm inlﬂr-ministerTial Initiative, Toycathon
2021, f*"’af nrganlsied by the Ministry of
Ei:xsatmn s Innovation Cell with the support
A. AICTE
B. Ministry of MSME
C. Ministry of Textiles
D. NCERT
Choose the correct answer.

(1) A, Cand D only B QI}
(2) B and C only N
(3) Aand D only ~ N

(4) A, B and C only Q\L

97. India’s first Pollinator Pé 'ﬁ s establishgd
in 2020 at which of thé fellowing places :
(1) Haldwani in Nainital< istrict of

Uttarakhand $-3, ye i
(2) Anantagjﬁ‘ﬁjﬁ*@ikarﬂbad district of
Telangana :
(3) Edakkal in Wayanad district of Kerala
(4) Ritangarh in Churu district of |
Rajasthan
98. Who among the following was the founder

of ‘Khudai Khidmatgars’ ?

(1) Khan Abdul Gafar Khan E!] -E
(2) Abul Kalam Azad =¥
(3) Mujib-ur-Rahaman

(4) Mohammad Ali Jinnah

22121

95, e5 D95 E'E 5@’ ‘Given Time Simple
Plan’ i @E4 & N4 %NS #E6 i Tired
Solution Plant Great 5o #N8 @DS %TS5
&TS5 e *Sick Point Good Turn' & '#K4
%D4 @N4 &TS' v Garden Sister Phone
Team &0 &ES5 #R6 %N6 @M4’ > o7
“Translate’ & 220 AT

() @Es 2) @BESS
(3) #T9 (4), #ES

96. Doy SooBB; TR BIY FTIRS S o0
D roseES BET 2021 eosb-So@s

(2) B 380 C S
B) A o800 D 5
(@) A, B 500050 C 57

97. eTEBTEY xS SOk S0, 6, 2020 &° &
808 D BBH08" boTtn 2
(1) &80p0& S B Fepcd
(2) Boorre Isoers BTE' @SSO
(3) 36¢ TATE RS S
(4) CaTLS S8 BPER S8SHE

98. & 300 T0E ‘porrod 458 w6 oD
T IS5 9 '

@ o S K6 8
(3) SwRS5-&65-8575rS

(4) 3oowrsns od &y

PT.0.
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99. Which of the following was the Japan’s
surprise attack on the American naval base

B

during World War-11"7

(1) Pearl Harbour in Hawaii

(2) Port San Diego in California
(3) Arutanga Harbour in Cook Islands
(4) Port of Balboa in Panama

Consider the following in relation to the
Special Central Assistance to Tribal
Sub-Scheme (SCA to TSS).

A. It is 100% grant from the Government
of India.

It is implemented from 1962.

It is charged to Consolidated Fund of |
India.

100.

It is an additive to state plan funds.

mY Ow

=141

09, & Bod Ted’ Botss SS0D g w
63,085 T RSGo D wFS SSySor

aT O ood 20 ?
() v &2 26 5,6
"2) sOeurEd FETS ST

‘.m HHH

4) SsrER PG ed by
100. @858 So H'aio RO (SCA
Soocs TSS) 55 :éﬂam&) 08 =D

[oT7O50:500.
A. 36 100% Gods (ITOLX.
B. 632 ] e300 DT

.. - L . .' ‘-'-.
Cﬂ O - Tl
= “
e, T £
iy L3 LY -

This grant is utilized exclusively |

in education development sector of | %

tribals.
Select the correct answer.
(1) A, Cand D only
(2) D and E only
(3) A,B,C,Dand E
(4) A, B, C and E only

101.

A. Purchas

B. Poor " Policy

C. & vate Partnership

D. r Purchasing Programme
Choose the correct answer.

(1) Aonly
(2) Conly ﬁ

(3) B and D only

(4) A and C only
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102.

103.

104,

Six persons are sitting in 4
facing the centre of the ¢
between Prakash and Pankaj
right to Pankaj. Preeti is be

circle and gre
ele. Deepa i

and immediate

(1) Deepa
(3) Lalit

Which of the following
matched ?

A. Hanumakonda 1000 : Rudramadevi
Pillar Inscription |

B. Bayyaram : Mailamba
Tank Inscription

C. Motupalli . Ganapatideva
Inscription

D. Chandupatla : Ambadeva
Inscription

Choose the correct answer.
(1) B and D only
(2) Aand D only
(3) C and D only
(4) Aand B only

Match the following
Constitution with the
with :

ons

Parts

Citizenship

3 Directive Principles of
State Policy

_ Union and its Territory
_ Union-State Relations
_ Fundamental Rights

Choose the correct answer.

(1) A-4; B-3; C-1; D-5
(2) A-3; B-5; C-2; D4
(3) A-2; B-5;:C-1; D-3
(4) A-3: B-1;C-5;D-2

22121
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105. Indian pharmaceu

106.

L | .

107. The provincesthat became famous for jute | 107

industry incolonial India was 1

(1) Beng:

(2) Centre

(3) Madras

O Ol .
108. Supply of liquid fertilizers to plants th ff';.- |

tical industry is one of

. or producers of the bulk drugs in the
E:ﬂn:l-nju[; I:t’hi;s context, read the following

statements - | _
A. By volume, the Indian phamlar.e:uucal
industry is the second largest in the

world.
B. India’s exports of bulk drugs/drug

intermediaries are more than the imports
of bulk drugs/active pharma ingredients
in the year 2021-22.

drugs/active

C. India imports various bulk :
pharma ingredients for producing |
0

medicines.

Choose the correct statement(s). 3
(1) Aand B only
(2) Aand C only
(3) C only

(4) A,BandC

D}ag:

Match the following :

A. Nanaghat Inscription 1. Kharavela

B. Hathigumpha 2. Rudradamana
Inscription

C. Nasik Inscription 3. Naganika ¢}

D.J Girnar 4gaumm\

.
-

Inscription
Choose the correct answer.
(1) A-3; B-1; C-4; D-2
(2) A-4; B-3; C-2; D-1

(3) A-2; B-4; C-1; g%
(4) A-1;B-2;C-

drip irrigation is
(1) Sublimation ~ (2) Volatilisatior
(3) Ferl:igau on (4) Verti E-‘dn"f.-'_"_j:r"-
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109. Which among the folloyy;

110. Which of the ﬁ::llnwing

[11.

112.

ngar T
of !hE_ 5”_1 and 6th SChEdﬁI ¢ the “bJECllveg
Constitution ? ¢ of the Indjap

(1) Administration and co
areas and schedulog 11'?;)1;3051 Of scheduyleg

(2) Provisions relatin
bodies

(3) Provisions relatin

(4) Inter-state rijve
disputes

& 10 the ryrg) local

£ 10 the MInorities
I Water sharing ang

- 1s NOT a mountg;
pass in the Western Ghats 5 ountain

(1) Bhor Ghat (2) Pal Ghat
(3) Indrahar Ghat (4) Thal Ghat

The Sriparvata Univers; :
s rl;ign i IVEISIly was established
(1) Vasishtaputra Srishantamala E¥[E
(2) Vasishtaputra Pulumavi :
(3) Rudrapurushadatta

(4) Virapurshadatta

National Green Tribunal (NGT) imposed

fine on West Bengal Government. Read the |

following statements about it. {J,

A. The Tribunal imposed a cumpensﬁtipﬁ;ﬁg; >
< 500 crore for failure to prﬁceér&,dsfﬁu
waste. ,1::“‘1%% Z;%UOU

B. It imposed a compensation ofX"3,
cmrep(zlfter rounded hly inﬁﬂure to
process liquid waste.,

C. The total amount’ of environmental
compensation lﬁé}@ﬂde}?ﬂﬁﬂd by the
Government of West Bengal within

3months. .. \ ¢
D. All cities,towns and villages, panchayats

\Ber fully
of West\Bengal may be made
compliant in respect of environmental
norms within 6 months. (T

E~Justice Adarsh Kumar Goel 1§ -
Chairperson of NGT as on November 30,
2022

Choose the correct statements.

(1) A, B and E only
(2) C, D and E only
(3) A, B and C only
(4) A,B,C,DandE

22121
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T 500 S8 305507 (305358 2B0D0B.

B. 5355w @8 Jaos” DeRnsoin
X 3,000 S% 30507y (308 e B

C. 3080 St BorrS
{4503 oo 1 s Sl
D. 3850 Sorrd &°0 SKoren, SeeTe,
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E. 5500530, 2022 77¢38 ey es58; K058
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(1) A, B 58055 E s
(2) C, D 35805 E S

(3) A, B 3o8amo C Smgsds
(4) A, B, C, D 58a E

P.T.O.
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113. Arrange the following stales based on their | 113, &¢ §t‘§ U'E.‘Oﬁi 8 Bes s
| decadal population growth rates between cood 0 OFY e e '
2001-2011 census in descending order : a8 g;’;:oé‘ﬂeiﬁgﬂ”
A. Arunachal Pradesh A. wSoerdd
B. Bihar : B. 5%
C. Meghalaya I wga
D. Uttar Pradesh D. &
00200,
Select the correct answer/order. D00 BITPE0080 / (BSI00R0 ﬁ .
(1) D,B,A,C (2) C,A,B,D (1) D,B,A,C » B
(3) B,D,C, A 4) A,D,C,B (3) B,D, C,A 4) A,
114. Which of the following persons are eligible | 114, & 18505 exxroeld arg e
Services Authorities Act ?
A. dseroiow
. Disabled persons
i B, SC/ST Hehenr

115.

116,

B. Members of SC/ST
C. Industrial workmen
D. Victims of mass disaster

Choose the correct answer.
(1) AandB only
(2) Aand D only
(3) B only *
(4) A,B,CandD

C. o0 PR~

S F - R . -
M e i) i L, e
D., o T O O e AL A
el Sy et RS |
il { ] l.- ™
e -

Which of the following declar
American continents are hen
to be considered the subje
colonization by any Euro
(1) Treaty of Wanghia
(2) The Monroe
(3) The Nixon

(4) Treaty o ople

Which the following TV channels
organised the programme ‘Andhra Pradesh
Dasha-Disha’ ?

(1) HMTV

(2) T-News
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117.

118.

119.

120,

The behaviour that shows fayeyris:
1ISm

towards one gender over another s referred 2 BRRGNE A ¥ Wit ) ebsrert)
as ~ § 3
Sl '.51.-#1..-,-.. L o WL S T Fa
by o u-..r Tl '-.-'i.t-f:u.-'.
(1) Gender bias = &) G i S
. = . 3 L @ EEGG-E :.I":r;r,‘" u;-::.-'j-f
(2) Gender awareness O}
|I=|.

(2) 23088 eSS

(3) Gender equality
(3) 22086 BSrste

(4) Gender role

(4) e2068 6
Golden rice developed by genetic

. . . X g T T ¢ L I '5_-:" & = o el
modification is a rich source of 118. exog 5OG 070 958 Toipeagedgoret 30

(golden rice) £33 FT"‘LH Ve

Sl (2) Vitamin K (1) D205 & Fousz

() Vitsgins (4) Vitamin A () 262055 N\ (@) 26252

Which of the following statements regarding | 119. & 808 r«Q&tS eof-1 ;Soxzbdnaga

Salar Jung-I's reforms are INCORRECT ?

A. He abfﬂlshed auctioning of revenue aﬁ,smgoom;h@
collection, but continued the middlemen 0B £ mw
to collect land revenue S0 TS RoTE.

B. He introduced Hali Sicca currency in i “0 asc5S 1357gw=ﬁbm
1857. | ¢ :

C. He appointed Nawab Bashlruddaulam C. e300 S5 m@mm S0
Revenue Minister. Ao,

D. He established separate cml au,ti?h'lminal D. &00s8 Ecerd SiKSed” It WIS,
courts in Hyderabad cu'y . ;] B3 TarTres Jonen I,

Choose the correct answe;.l o BSOS IZrGTY Jos Jakod.

(1) Band Donly = ' | (1) B 33000 D e
(2) CandDonly "o/ (2) C SoBako D 3@

(3) B o0 C S
(4) A 30atw C s

or plants of | 120. & 08 Boored™ D evo ey Togio o
Whith-one of the hydel power PI&NS B/ GOS8 et & 0

Telangana is NOT currectl}’ matched
(1) HAHERD 1 234 Jorm ey

its production capacity ?

(3) Band C unly
(4) A and,Clonly

(1) Priyadarshini : 234 MW dor i @ 8D : 56 o ey m
(2) Paleru: 56 MW (3) $0Dcve : 120 o ey
(3) Pulichintala; 120 MW (4) o8 1 36 o ey

(4) Pochampad : 36 MW P.T.0.
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E-;E
121, 29 Su0eb 2022 38 200 TO8 GTOB OFSh

121. From among the following, who were

122.

123.

nominated to the Rajya Sabha by the
President of India as on 29 November 2022 7 _

A. Tlaivaraaja . e 7
B. P.T. Usha e
C. Veerendra Heggade i '

D. V. Vijayendra Prasad

Choose the correct answer.
(1) B and C only

(2) A, BandD only

(3) A,B,Cand D

(4) Aand D only

Which of the statements are correct about
the first Salar Jung's reforms during Asaf
Jahi Period ?

A. He introduced the Zilabandi System.
B. He built Mir Alam Tank. €
C. He established Dar-ul-ulm School. » {74
D. He founded the Nizam College. \Q 4

Choose the correct answer.

(1) B and D only \l%
(2) C and D only
(3) B and C only %% &

(4] AendiC ﬂﬂl}" % E HH '
uielmtrical connections

nsumers. Arrange them
order on the basis of electrica
connections in Telangana as of 2020-21
(1) Domestic, industrial and agricultura
connections
(2) Agricultural, domestic and indu
connections
(3) Domestic, agricultural and inc
(4) Industrial, agricultura]
cctine tura
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124. What are the features of the p

radhan : . J ,
Mahila Shakti Kendra Scheme 2 Mantri | 124, Ext;r:nmo@ st 8 Soio S¢%0 eferes
A It supPons the ilnplemcmaﬁm of w S0l ‘ _
centric schemes/programs; 3 A. 30 320rv SoB% SPso /sy ESre
B. It envisages community en :
gagement
through college student volunteers.

C. Itaims to set up of District Leve] Centres

for Women (DLCW) and State Resource |
Centres for Women (SRCW),

D. These centres are to function as Project

Management Units for UJJAWALA
Scheme.

E. Administration cost sharing ratio would
be 50 : 50 between centre and states for | E.
its implementation.

Select the correct answer. ﬁ
1

(1) B, D and E only
(2) A,Band C only
(3) Cand D only

(4) A, B, C and D only

park : 100 acres _
D. Number of units, the park has : i
Choose the correct pair(s).

(1) Aonly

(2) A, Band C only
(3) C and D only
(4) Aand B only
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126. Find out the synonym
in the given sentence.

A P.J. Abdul Kalam, the erstwhile President
(5] #[E

of the underlined word

of India wrote Wings of Fire.

ormer (2) elder 388
®Tl E HHH

(3) previous (4) present

127. Which one of the following is a wrongly spelt
word 7

@ ‘harrassment

(3) embarrassing

(2) collection
(4) pleasure

128. Complete the given sentence using the
grammatically correct option.

Anirudh just to market.
(1) had, going (2) has, went
has, gone (4) have, gone

129. Find out the antonym of the underlined word
in the given sentence.

No one likes to cultivate in a barren land.

(1) desperate @--“ﬁznile s 1
(3) parched (4) desolate \

Complete the given sentence using the
grammatically correct option.¢ " J

It is said that some fifty years ago, these
tribals hardworking people.

9 :ere E4E {j;'j:ave
een  Mang are
El’%ﬁ. \ ¢
131. Which one of the following is a correctly
spelt word 2\,

(1) summory
(3) thorogh

130.

@. technique
(4) callege

Which of the following are the correct plural

forms of the underlined words in the given
sentence ? |

The foot of a man has its own size.
(1) foots, men (2) feet, mans
(3) foots, mans @/ feet, men

132,

22121

‘the f ing sentences ;
IC . of the followIng it
In which on€ © llowing sentence
the punctuation marks used l:_.Fn::.Ltly _
(1) an idea carn change our hife

(2) We are [ndians. Isn't 1L . d
(3) Knowledge of cOmpUters 18 FERGlory

owadays ! +
;indhu is a famous Badminton I_Jlﬂyer.
lete the given sentence using the
| gr[;:nt:ﬂ*latically correct option.
One of my friends, wWho 15 i& Hyderabad,

a famous doctor.

133

is (2) Were
have (4) arc HHY}
135. Find out the antonym thhe underlined word

in the given sentence. _
Urban people failto get fresh air and lead an

(2) sophisticated
(4) metropolitan
ete the given sentence using the
tically correct option.

ou should that thorough reading
necessary to understand an essay.

136.
6 (1) remain, was @ rﬂme:mbel', 1S
(3) correct, has (4) forget, were
grammatically correct option.
They in a flat in Hyderabad now.
M (2) have been living
(4) have lived
138. Which of the following are the correct singular
(1) teeth, mice (2) tooth, mice
139. In which one of the ing sentences
the punctuation mnrfﬁllw correctly ? i
@ our attention,
) dev has hearts
of the lovers n?é.?idigt.m g5

137. Complete the given sentence using the
are living
(3) lived
forms of the words ‘teeth and mice’ ?
9) Mth- mouse @ tﬂDth, mouse
(1) The thieves are very, clever in diverting
Are you going anywhere on Sunday ?
(4) english is not spoken by all indians.
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140. Complete the given sentenc '
grammatically correct nptinn_te using the | 146, Which of the following are the correct plural

=
5

‘he custo a0ai s of ! rords 1 ‘
e st SR e
{ii l?ax'c tl:ﬂ.m‘plalned g had complained The formula given by my brother-in-law is
(3) cemgEang ) complained very difficult for me to solve.

141. gslitcig:gﬂu?f the following are the correctly (1) Formulae, I::rmher-itl15~law.

A Autinih (5] ¥#[E) (2) Formulas, brothers-in-law
B. Seperate T @ Formulae, brothers-in=law
C. Column = , (4) Formulas, brothersin:laws
D. Doutful ( 1
Choose the correct answer. midy | 147. Find out the synonym 6fthe underlined word
(1Y Band C 2) CandD in the given sentenge.

(3) Aand D @ A and C Hiﬂs;‘cr | ach helped him get the
. . WO, :

4% forma of the undertingd wor e i | () rriring
?entenc_e? - ) 3) _[')é,ﬁmnt (4) outrageous
EEHEEEE;MEMUt thearigiot feficwer 148, ‘Complete the given sentence using the
(1) Storys, lilies @ Stories, lilies Y, J'grammatically correct option.

(3) Storys, lilys Stories, lilys (] % It __in Delhi since morning.
143. Find out the synonym of the underlined wordg| (1) rained @ has been raining

in the given sentence.

L e (3) had been raining (4) is raining
The devotees were eagerly waitingto Witness

the procession of the tribal gq_ddﬁﬁs.ﬁ_ " 149. Which two of the following are the correctly

(1) worship 2) /hOﬂﬂEUI‘E spelt words ?

(3) pray ‘gbserve A. Impartial

144. Complete the given/sgntence using the B. Develop

grammatically corpéct.option. C. Whethor

Ifyou _the work, it your

laziness. | D. Crualty
postpones; Show Choose the correct answer.
postpone, will show 8] @‘Aﬂﬂdn (2) Cand D
postponed, show A (3) Aand D (4) BandC

(4) will postpone, show
145. Tnhich one of the following sentences are 150. Find out the meaning of the underlined word

¢ punctuation marks used correctly ? in the given sentence,
“What an interesting story it is ! Both the countries resolved to fight terrorism
. Eucs it rain in the month of January. at any cost.
ohit says, | am a shuttle player. (1) improved (2) ved
4 s in appro
(%) how wonderful the flow of water I8 (3) submitted (@) decided
—-H-—_-_.

39
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